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One of the »a» dwellers — WIND 71D 2INOD Wpaw Man v1an RN
who wanted to close off the "2 opposite his doorway

OVERVIEW

A (21n0) "12n is shaped like the letter ‘U’. The inside of the U is the M1272. (On top of
the U is the 7"777.) On all three sides of the U there are various doorways that open
into the many 2°7¥n that are on the outside of this U (™2n). People exit from the
X (via these doorways) into the "2n and from the "2n they exit into the 7"77
(and vice versa). X117 27 ruled that the »127 °12 can prevent (any) one of the "2n °12
from building a blockage wnd 7215 in the "an because he is 177 DX F71°%¥ 7290,
There is a dispute between >"w7 and 90N as to the meaning of WNd 7313 and 727
T777 DR 3OV,

—INND X9 3N Y YWY NN YAINN HM220 MNINN PPN IV‘i\?”Pﬂ v
'"w4 explained that this 127 72 intended to encircle his nR '7 that he has (rights
to) in the "12» opposite his doorway, by surrounding it with partitions.

mooIn rejects "wD:
— 39813 NYN 212193 NN Y2IN 19 ROOY 19981 NIT PN 135399 DY)

And the 51 has a difficulty with this *"2"9; for we do not find that a 121 32 has

a right to nR '7 in the "12»; it is only by a 927 that each house has n¥x '7 in the 7% in
front of its doorway, but no one has N»X '7 in the *12n.

mooIn offers his explanation:
— DINDN T8 DN 2NN 9102 AWIY 11D HNIIN 19229 WIT95 PNYY 139299 AN

And the >'"'1 prefers the explanation of the ' where for instance this 217 12

lived at the end of the "127 near the closed off side (at the very bottom of the U) -
— 4’1:)311 2N 991NN )19 OINDY NYIN

And he wants to close off opposite his doorway the entire width of the %12 -

L wpaw a"1a.

% He has N '7 in the 737 in front of his house so he can unload (which he cannot do in his house); however there is
no need for NMX '7 in the *121 since he can unload in the %1 in front of his house.

? The reason the »1an71 %12 can prevent him from blocking and narrowing the width of the 121 is (not only because he
is 7777 PR 37°9Y 71271, but) because he has no [exclusive] rights in the 121, which belongs equally to all the 1217 *12!
* All the other doorways of the 0% into the Man are farther out past his intended closure (higher up on the U), so
that his intended wall will not interfere at all with their entering and exiting their m7xr. And even though he has no
exclusive right to the 122 (see footnote # 2), nevertheless if he is in no way disturbing the "1217 °13, it would be a nTn
0170 to prevent him from building since it is 70n X7 7711 7371 71, See A0 v for an alternate explanation.
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— DINYN DNV 29 JY 4N 2971 22 DY 1P29¥NY NN 29 9INRP XNV
So now R1%7 29 rules that the other »12% %13 may prevent him from building that

wall. Even though their doorways are outside his intended wall; so why should they

mind if he builds a wall which will (seemingly) not disturb them? &117 27 explains -
— DTN 2 D)9 VIV TN DX 0NYY NNV 'Y

‘Because he is increasing the way for them’; meaning he is increasing the foot

traffic of people -
— 319N PN 1Y D325 DI AN D29 YIYI [IN] 121N 333 990 PUIIY

For the "12» %12 can argue that without your wall then even when there are
many people in the »22 it is not so crowded, for they can go in until the very end

of the »1an, giving us sufficient space -
— 531331259 ©33NTA DTN 332 315 59 7917 NN INYY 129N NPPNOA > 5

However through this obstruction which will lessen the area of the "127, you will

be 97977 nR 1295y 729% through all these people that are pushing us in the 2%

(because of the limited apace) -
— P 219 D197 19908 MISNY 4N)

And it will be necessary for them, because of the intense crowding, to even go
into our nm"xn.

mooIn responds to an anticipated difficulty:5
— NT PV 770 HX ONDY NN PIYD 1IN

And we find the expression 77777 nX 377°%¥ 17297 in the aforementioned context -
— “Damun 98NY 1NN XY NINNK 98N 1193 NDY (3,03 97 BINAN NPIN 1IPY 1307

For we learnt in a mw» later in 2°n377 NP P79, ‘one who bought a house in
another 221 (adjacent to the 731 in which he currently lives) he should not open

it into a 221 where there are other partners beside him -
— DTN 232 D)9 19917 71N NN 0NOTY NIV 29N (x,0 97 NI RNYV YOI

And the X723 explains the reason for this ruling, because he is 77777 $7°% 7292

(in the initial 7¥17); which refers to additional foot traffic, there will be people from
both >7%7 in one 7%7, but not that the people of the 7311 will need to walk a longer distance.

> 97977 NX 11HY 727 seemingly means that you are causing us to walk more. According to *"@1 that he was planning
to make a wall around his nwX '7, it is understood that for the people who live past this intended partition, they
cannot go directly to their 7%, but must rather go around this 77°no. However according to maoin what is meant by
7777 DR DY 7270; they need not go a longer distance?! maown will show that we do find that 7777 nR 1%y 7277
means that it will be more crowded (but not [necessarily] that more walking will be required).

% There were two mnen adjacent to each other, but no passage between them. One who lives in one 7¥n and bought a
house in the adjacent 71X cannot open a passageway from his house in one %77 to the other 7%11, even though he (too)
is a partner in both n17¥m.
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mooin offers an additional proof that 7777 nX 771°Y 729 means additional traffic:
— 75815 ynmay YPan D390 MY NN I W XOIN PNDIINT NNDP PI9T NNODINI)

And in the Xnp21n of the first P22 of our noo» we learnt a Xns"3, ‘one who has
a store in the 2'"';711 and he wants to open it up to a 237 -

S7YTH DN DNOYY DAY 2391 11 Y 29¥Y DIND BIOMYN
The members of the 921 can prevent him from doing so because he is 729%

T DR 3799Y’; there too it means he is increasing the foot traffic, but not that they need to
walk a greater distance.

SUMMARY

According to >"w1 the 217 12 intends to build a partition in the M»X '7 in front of
his door and the ™2»7 °12 can prevent this because he is making them take a
circuitous route (7177 DX 37°%Y 729%). The °"1 maintains that it is the person at the
closed end of the »12» who wants to close off his end diminishing the area of the
"2n. The *12n "12 prevent him because he is causing more foot traffic in the 2.

THINKING IT OVER

The X773 challenges s'X117 27 ruling from the Xn>>72 of M7°¥1 wnn which states that
the X is 72%Y% nwanwn and the nomo1o is XR™MKR 90 oy nwnanwn. However
according to 11"71 °"9 just like the N11X¥°17 cannot be wnnwn with the n°°15, how can
we allow the N9 to cause damage to the nn¥n through causing® that people
will enter their mnxn?!°

7 He intends to make a passageway from his store into the 7xr. However now the 2";71 *12 will have access to the Jxn
via the nn. This will increase the traffic in the 2xm.

¥ Granted that the n1»"19 may make use of the entire length of the »1an, but that is only if he is not causing any
difficulty for the "1 "12 (see o912 73"7 >"wA that Mann 77 22V WKW 55 wnwn 17 w).

? See mmbw *10 and »'"m.

3
TosfosInEnglish.com



